JUIZ #7&8(2)  MATHO02  Sec#22&12  Sri# Name:
SHOW ALL YOUR WORK

1. The graph of 4x® - 9y% - 16x +54y-29=0 is:
a) hyperhola with vertices ( 5,2) and ( 1,2)
h) ellipse with vertices (2,3) and (2,1)
¢) hyperbola with vertices (2,5) and ( 2,1)
d) hyperbola with vertices { 2,2) and ( 1,2)
e) ellipse with vertices {5,2) and { 1,2)
solution
A -dx]-9[p* -] =29 = 4[x* - dx+ P20y - bp+ P -] =29

—=4[(x-2)"-4]-9[ (p-3)"-5]- 294 (x- 2" -16-9(y -3 +81-10

2
+4[x—2j2—9|:y—3]2=29+16—81+4|:x—2:|2—9[y—3]2=—36%('P;E:I— =1

vertical hyperbola center (2,3 a=2,b=3vertices (2,59& (2,1

32. I (a.,b)and(c.d) are solutions of the following system

2x% —dxy-y°=8H (1]
dxe-3xy —ye =B, (2)
Then abcd=

a) -4 h)6 )2 d)—6 &) 4
Solution
eq.(1) -eq.(d) —

Gxl—duy-vi=6

—dxe +3xy +y2 =-F.

— i - xyp+0=0

222 +2p=0 > x(2x+3)=0—>7x=0 or xz_%y
Substitute x=0 in eq.(1) >0+ 0-y* = 6 > y* =—6 —nonreal solution

2
Substifute x:—%y in ag.(1) %2%—4§y+;p‘2 =6 %%}fz =6 %yz =4 s y==L

miehstifute y=22 in x= —%y

y=2-3x=-1-3(-12), y=-2—x=1-3(1-2)
then —1(2)(D(=2) =4

Continue



43. The equation of the ellipse having center {3 ,-2 ), vertex {( 3,3 ), and focus
'3,1)is:

(x=3) , (v+2)

1) =1
s 16
2 2
]) [X_Sj +(}F+2) :l
16 AS]
2 2
3 (2+3) +(:~,r—2) _q
16 125
2 2
Il:l [X_Sj +(}F_2) :l
16 yAS
2 2
As 16
Solution

Since center, verter, & Heus lie on verticd 1ine — vertical — ellipse
4 = distance between center & verter =5
b = distance between center & foous= 3

o bt 0=05-0 sp =16

34, Given the vectors 1= 1 2 and = { 3, \E—l} then the magnitude M and

lirection angle of the vector T+ ¥+ i— j are given hy:

‘a) M =dand £=135

b) M =2and §=150

) M=2and =135

d) M=2 and 8=120°

o) M =dand =120

Solution
B+7+T-J=1+2i-3i+ (B -1 j+i— == ++3)

= J(F +(¥3)% =2
NE

I:anE:—I:—«_E — &' = 607 Since —1 +ml§j in Quadrant I

g=120°

Continue



45.If the following system is dependent. Then the values of a & h_are equal:

bx+2y =4
2x—y =21

A b=—4and a=-1
Nh=dand a=1
Dbh=-Ammd a=1
Db=4and a=-1
Nbh=-Amd a=-2
Solution

ag. (1) + 20k (2) —
bx+2y=4
dx—2y=4da
brxt+dx+0=4+4a
B+dhx=4+4a
since the systemis dependent b +4=08&4+4a=10
—b=—4 &a=-1

J6. The equation of the parabola with directrix X =—1 and focus (3, 2)is:
(-2) =4(x -1)

b (y-2)=-8(x-3)

(y+2) =8(x+3).

Q) (x-1) =-8(y-2).

®  (x-2Y=4{y-1)

solution

‘a

o

“tu—rt

©

werizr =t dpoint between focus & directris = (3,2,
Since the vertex &cthe focus lie on hovizovial line then the axis is hovizontal

p-kR = Ap(x-hy
pavabala gpen fo the lef p =< distance baween vertex & focus) = -1



